U

ArEe

™
=

A



2. 728 olW 42 Lhrela gtk tiroldel A shs Afale mE
ERITISE

B e ol



3. 542 olH 4 ireln gk Wirojdo] A7) she 4k 2% @
A7

B e 7



4.

the 3 5 47} HjSeh oF ] BAL obd

@ (6, 24)
@ (5, 40)

@ (8, 16)
® (6, 26)

vl




=

AR S ARE A2 o=

oo

@ 63299 Hijgoltt,
@ 632 7] Hijg-oltt,
® 632 739 9] FHjg=oltt
@ 639] oF= 73 9ol

® 7 639] opZoltt.



6.

U S 7 7t it ofo] BAI A

@ (4, 30)
@ (8, 128)

@ (3, 13)

® (14, 144)



by

OE _h-l

Zol et
TSFAL L. (T, 2L o

bl

A2.)

Utk o] £ 4]
ol

A=2x2x3x5x%x5
B=2x3x5x5x%x7
Aqgers [ Aagus [




@ 14 ® 32 @ 25 ® 24

@D 16



ES
)+1

I



o Hgersrt 459 o, of

10. o@ £ %
AL ol A7

@ 3 ® 5 @9 ® 45

D 2



129}189] B o] §5tel F 4:0] Fop4E Tateln Pk
129} 18 9] FOF4-2 FHHAL. (I, AL S3E Aoz 242

> EE



12, 29 Hje: 5, 39 Hiak B £8 BT LEAL

@® 213 @ 6312 ® 5437

@ 12564 ® 958



13. ohe 4 Fol4 3 o] M52 B Hop o WAR 2 45 T,

156, 355, 522, 766, 3504, 5704, 31320




14. thg 279 Y $8 B 2 A LA,

o 48] Hljpo] A 729] OFQl 5
o 10ET} F31 60 Hrt 22 Z=p

R 2l



FU7F?

8



